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OMB SYNOP U (Used: 422)
mean: 0.6677 rms: 1.9378 std: 1.8192
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OMA SYNOP U (Used: 422)
0.3131 rms: 15258 std: 1.4933
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OMB SYNOP V (All: 800)
mean: 0.2503 rms: 1.3998 std: 1.3772
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OMB SYNOP V (Used: 440)
mean: 0.4552 rms: 1.8875 std: 1.8318
I tsimulation.coin -

0° - ] 0°

15°S .
] 3008

30°S

45°S 45°S

105°W 90°W 75°W 60°W 45°W 30°W 15°W
o -4<=x<-3 -1<=x<0 2<=X<3 ® 5<=x<10

® -10<=x<-5 -3<=x<-2 O<=x<1 e 3<=x<4

® -5<=x<-4 o -2<=x<-1 1<=x<2 ® 4<=x<5



15°N

0° |

15°S

30°S

45°S

OMA SYNOP V (Used: 440)
mean: 0.0345 rms: 1.6015 std: 1.6012

J tsimulation.coi

,,,,,,,,

105°W 90°W 75°W 60°W 45°W 30°W 15°W
® -4<=x<-3 -1<=x<0 2<=x<3

® -10<=x<-5 -3<=x<-2 O<=x<1 e 3<=x<4
® -5<=x<-4 o -2<=x<-1 1<=x<2 ® 4<=x<5

1 15°N

10°

15°S

] 3008

45°S



OMB SYNOP T (All: 922)

mean: 0.1618 rms: 1.2300 std: 1.2193
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OMB SYNOP T (Used: 504)

mean: 0.2959 rms: 1.6636 std: 1.6371
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OMA SYNOP T (Used: 504)
0.1886 rms: 1.4359 std: 1.4234
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OMB SYNOP Q (All: 861)
mean: 0.6879 rms: 1.4448 std: 1.2705
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1.9766 std: 1.4997
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0.7669 rms:

OMA SYNOP Q (Used: 460)
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OMB SYNOP P (All: 910)
mean: 0.3997 rms: 0.9637 std: 0.8768
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OMB SYNOP P (Used: 484)
mean: 0.7516 rms: 1.3214 std: 1.0868
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